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Aufgabe 10

a)
k = −2

Z
A B

CD

A′B′

C′ D′

ZA′ = 0,5 · 2 = 1

ZB′ = 1,58 · 2 = 3,16

ZC′ = 2,5 · 2 = 5

ZD′ = 2 · 2 = 4
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b)
k = −0,5

Z
A B

CD

A′B′

C′ D′

ZA′ = 0 · 0,5 = 0

ZB′ = 4 · 0,5 = 2

ZC′ = 3,61 · 0,5 = 1,81

ZD′ = 2,83 · 0,5 = 1,42
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c)
k = −1,2

Z A

CB

A′

C′ B′

ZA′ = 2,5 · 1,2 = 3

ZB′ = 2,5 · 1,2 = 3

ZC′ = 3,52 · 1,2 = 4,22
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d)
k = −2

Z

A
B

C D

E

A′B′

C′D′

E′

ZA′ = 0,5 · 2 = 1

ZB′ = 1,58 · 2 = 3,16

ZC′ = 1,8 · 2 = 3,6

ZD′ = 3,16 · 2 = 6,32

ZE′ = 3,61 · 2 = 7,22



Mie / 9 / Seite 21 Aufgabe 10 und 11 Seite 5 von 6

Aufgabe 11

a)

Z

AA′

k =
ZA′

ZA
= −3

2
= −1

1
2
= −1,5

b)

Z

A

A′

k =
ZA′

ZA
= −2

6
= −1

3
= −0,33
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c)

Z
A

A′

k =
ZA′

ZA
= −3

1
= −3

d)

Z
AA′

k =
ZA′

ZA
= −2

1
= −2


